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PART - 111
Glummeflwed / ECONOMICS

(s wHmid mile eul / Tamil & English Version)

[ Qorss wHlCuaETsT : 90

Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

SiPleyenTaeT : (1)

Instructions :

@Iy :

Note :

(i)

Simansg elamssenn sflurs Lfeurd o eratgr eramugman FiLMNTSEIE
Qameterayd. SiFSLILSeND GenudBLe, Siamps samsreapiiumeaTiLLb
o L angwinad Cgpfellgseayb.

2) Beod d@g smHUY owWoa LLEGCL aWFHUSDHEGD
S &ECETyHeausH@GL LwaTLBEs CauamBb. ULR&GE aUamyasn@
Quenéled LweTLIHSSa]LD.

(1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@$ - 1/PART -1
S|O6NSG edamaEs@ErsEh e weflEseaib. 20x1=20

QarhssuulHetar Bres@ wron oL safler Waayb ghymLw
e emwus Carhs®sss GMULGLear eNenulenaruyd GCeirg g
ET(PSQYLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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s@ellena T 250 @paabd whHpid e amein eflanew T 200 ypsa b pareng). HETGaumT

TEFENHS HTAN S,

(<) T 375 (<) 175 (©) T 200

(rf) X 50

Given potential price is T 250 and the actual price is T 200. Find the consumer plus.

@ 375 (b) T 175 (©) T 200

waaiow 2 HusHs srraflseTrear :
(=) 2epuy wHmIb ATy
(<) 2Pl wHmIb epogeid

(&) plad wpod epegend

(/) Hlen woHmib 2 apli

The primary factors of production are :
(a) Labour and Organisation

(b) Labour and Capital

(c) Land and Capital

(d) Land and Labour

pemenflwed Gummeflwe erang o erorL_sdwig ?
(<21) @LOCwrEs’ QurEmerrgTyid

() Dunmmerngmygdean LihGeumy genmadr

(8) seflpuim Clumapernmamy [bLG g &End & eir

(m) @LGOwrgs Qurmerrsmys Q&L
Micro Economics is concerned with ¢

(a)  the economy as a whole

(b)  different sectors of an economy

() the study of individual economic units behaviour

(d) the interactions within the entire economy

d) %50
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STU-LEATED 2 HUSH ST eTHmeT Biqliuemirsd QareartL g ?
(=) cuaniipg Gad efdlg ellenerey 6l

(<=1) @eopns Qad adls cllameara 6l

(@) wrpr flg efenera) aNd)

() Chsremid Demandgib

Cobb-Douglas production function assumes :

(a) Increasing returns to scale

(b) Diminishing returns to scale

(c¢) Constant returns to scale

(d) All of the above

veng blsevenau Qeea| eremmid NLPEEHEVLD.

(<=¢) QauefilinenL_wirer (<) 2eTeTiihs
(@) seps (FF) o cirenio
Money cost is also known as cost.

(a) explicit (b)  implicit

(c) social (d) real

G SiE sbgors 2 Huss CaleghE WG Ceea] :

(<21) b Cleaway (<24,) OTOTE QFe6

(@) Bndbleows Cgnay () Qorsss CGeowey

The cost incurred by producing one more unit of output is cost.
(a) variable (b) fixed

(c) marginal (d) total

wppmfenouliéds MR Car® CamiiyhE SN msELD.

(1) TR (<24) MC (&) AR () AC
In monopoly, MR curve lies below .

(a) TR (b) MC (¢) AR (d) AC

8147
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8.

10.

11.

8U LweaTU@RSgusHETE QeuEndGu aUTTD DhGLD-
(=1) epagand (<3) e-emipliyy (&) Hlevtb (FF) Sfenioliy

Rent is the reward for the use of

(a) capital (b) labour (c) land (d) organization

cdiunyrs Qeeysemen shlILg T SMHSMS SHeen GTeUaIMD) GIUNIRICE L s

(=) uflorpp CrIESD (<) penQangafsams Cpr&sid
(@) oas Crrésd () seafliulL GBr&sD

The concept of meeting unexpected expenditure according to Keynes is :
(a) Transaction motive (b) Precautionary motive

(c) Speculative motive (d) Personal motive
seoliyl QummeTTSIrD ereaLg) .

(=) seflwrT genn LHMILD eurkidlser

(=) Qurg wPMID saflwrT gepsdar Carbg GeweuBHeug)
(8) Qurgiggierm LHMID ek ser

(rF) Qurgyd gevpseT WL (HILD

Mixed economy means

(a) Private sector and banks

(b) Co-existence and functioning of public and private sectors
(c) Public sector and banks
(d) Public sectors only

Smeudt@peuflen QUMmETTEITE HMHSSIET @SO\1LIras; Fmmieug) :
(=) Cgeveuld

(2},) umIenLDd FUPSTUIGSH T FTLILD

(@) Ceuerramentn

(r) Comamer 2ienendgib

Thiruvalluvar’s economic ideas mainly dealt with :
(a) Wealth

(b) Poverty is the curse in the society
(c) Agriculture
(d) All of the above
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Qidwrelear sareflsCariamLde (Calicut) eureavGarLarwr aumas Yflbs
QU(HL-LD :

(1) 1498 (<) 1948 (@) 1489 () 1849

Vasco-da-Gama arrived at Calicut, India in the year :

(a) 1498 (b) 1948 (c) 1489 (d) 1849

2 & Serelle® @pHwr o pusHule WslQuilu e pusdureryrs
et @GSleTmg).

(=) uwpriIseT (<=1,) yevsullenev (@) smudl () Czullena

India is the largest producer of in the world.

(a) Fruits (b) Tobacco (c) Coffee (d) Tea

sarsls UGS @ wallgen ahegs0sTdrar Gauemiy w sCGemfl jerey :
(<4) 2100 (<) 2200 (@) 2300 (/) 2400

The recommended nutritional intake per person in rural areas :

(a) 2100 calories  (b) 2200 calories () 2300 calories  (d) 2400 calories

GST -We» ids sere] eufl eNHLIL @D, (gOeme 1, 2017 prefleiig)
(1) 18% (=) 24% (8) 28% () 32%

The highest rate of tax under GST ______. (as on July 1, 2017)

@) 18% (b) 24% (€ 28% (d) 32%

SOPHTL 156 groureaisdlen sl QLemr
(1) pmisar (<)) @ENBIGGT (@) Hewpser () &reeumuser
The main source of irrigation in Tamil Nadu is :

(a) rivers (b) tanks (c) wells (d) canals
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17.

18.

19.

20.

saN&EsmeSmbg QUTES smHEE QUMb ey :

(1) uEssTLey (Wenm (=) OsTEssTLe| PP

(8) Quéyemr sifleflwd () Qpdluyeny oidledlwied
The process of reasoning from particular to general is

(@) Deductive method (b) Inductive method

(c) Positive economics (d) Normative economics

Ctrl+M eTasim <y, enemt vweTUhGSLLUH S eTmG!.

(=1) Callss (<=4,) p&QH&S

(@) udw pywsests Gup (m) Bgwsms bis
The command Ctrl+M is applied for :
(@) saving (b)  copying

(c) getting a new slide (d) deleting a slide

Gpdwrellen usemwl Urlduler ghag erammenpssiiu@Huei Wi ?

(1) M.S. seumbliprge
(8) smpd

The father of Green Revolution in India was

(=) Gﬁm@md\)%mvmn

(%) NR. efldveusmsen

(a) M.S. Swaminathan (b)
(c) Gandhi (d)

Visweswaraiah

N.R. Viswana than

Gpord phsranhs S PSS YEALSGIE o0
' WRIGUL L,
(<=1) Coeneu (<=1,) Qamiled (8) Geuerreiranig () ) 8l
™) ey
In the first Five Year Plan, the top priority was given to "
T Sector,

(a) Service (b) Agriculture

Industrial (c) (@)
Bank
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U@ - 11/ PART - 11

©Mluy : sremauBuend e lamssErsE elolwdésab. eflarr erar 30 -ée
SLULmuwns efleLwellésab. 7x2=14

Note : Answer any seven questions. Question No. 30 is Compulsory.

21, pEW CFLaSEET erammed eremen ?

What is meant by sunk cost ?

N
(]

vweTUr g &t FCHSID @TETH UMEHEMETS Falls.

Name any two types of utility.

23. e pusdwurert Fwllenen SeLws GCoaneuwinrer HlUbSeSET Wwrenal ?

What are the conditions for producer’s equilibrium ?

24. swCpréE cumarCam(H&ET eTenmTed 6reme ?

What is meant by Indifference curves ?

25. alyg updl § idleug wrgl ?
What do you mean by interest ?

26. eGarflu QurmeTTsmrsHear GuUseT CEEID QIamyamars sms.

State any two features of developed economy.

27. weafls eueri&sls GO QL Tenemns; sTEEL 2 s GMUIHSMeTE Famis.

Mention the indicators which are used to calculate HDI.

28.  Apuyl QurmarTsry LOGRTL_ VLD GTaTLISEN QUITIHENETE FaMis.

Gtate the meaning of Special Economic Zones.

29. OB iq.601 P& HEOPPSBISHT Wreal ?
What are the major ports in Tamil Nadu ?

30. @mrusLer (Micro Finance) GTedmimed Greoreor ?
What do you mean by Micro Finance ?
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L@ - 11/ PART - III

GOlLY @ eTemeuCuenid e ANaTESE@hES Qen_wefésayb. elarr ecraw 40 -&&
SL_Lmuionss eflenL wel&EsHe]|w. 7x3=21

Note : Answer any seven questions. Question No. 40 is Compulsory.

31. msTGeur eréssdh@ omragedlen QOEEEMGDES S([HS-

Give Marshall’s definition of Consumer Surplus.

32. @ueéyer Qummailued wHmb CGpHlujey Qureilwene gUGS.

Compare positive economics and normative economics.

33, oeflliy Opdpdfews upmdl eT(PSIS.

Write about the elasticii:y of supply.

34. Hmyeuend, GgmPHETME ReupPpde_Cu o etor Gaupurdesdr wreme ?

What are the differences between ‘Firm(’ and ‘Industry” ?

35. AC wpmb MC -&denGuiwimen QgrLifenus apls.

State the relationship between AC and MC.

36. LBsTEs GerLs Carl_url L &HSSLOTE Salis.

Describe briefly the Innovation Theory of Profit.

37. QummeTtgry PETGETHOW — GUENTWIMISEELD.

Define Economic Development.
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38. PQLI GTeImMmey 6Tty ?

What is PQLI ?

39. ears Guburiger wWwidlwuggscusdamend gams.

State the importance of Rural Development.

40. MUDRA aumidlullenr Crrésmisamerys Ll g wiadBHs.
List out the objectives of MUDRA Bank.

&S - IV / PART - IV
@Ry : Siemenssl elamésEnsEhn alleweilésa|. 7x5

Note : Answer all the questions.

41. (=) 2 pusd eumiiliy cuanerCarl_elé Qarar®, QU meTTSTrSSeT gL L
Grssenangsenet cileuflésaid. .
S|6V608)

(<) QurpeTTSTY @@Gmﬁ)pg,ﬁd) HAmQsmPled Hneuamiiseten Ltidlaar eflaurl.

(a) Explain the basic problems of the economy with the help of production possibility curve.

OR

(b) Explain the role of SSIs in economic development.

42. (=) g@ggrrf,rrﬁ_q_dﬂ QuITs 55D CuUTEEGUTSS pepuilemar eflers@s.
2|6V60FI

(<o) Caonoy G OO BT 0d elas@smen ofleufidsayb.
D

(a) Explain the public transport system in Tamil Nadu.

OR
(b) Explain the Law of Demand and its exceptions.
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43. (=) Qurmerrsry WaGapy sEHbs s paaniard Gpmeldr L
cHle& 35

saflien

360605
(<=3) Bevpayts Gumriiguien Quidsemen cllerdEs.
(@) Explain Jawaharlal Nehru's contribution to the idea of economic development.
OR
(b) Explain the features of Perfect Competition.

44. (=) Qndfee o pusHsdper LETasE Carium e NeTEGHS.
3|06V
(=) eapals QUTEETTSTY SlésHdseneT QpTTLS.

(a) Explain the Marginal Productivity Theory of Distribution.
OR

(b) Discuss the problems of Rural Economy.

45. (=) efdlg Sierey cllanare] ol 5GBS 2SS lleT&HEs.
S|6V60)
(=) Banflen auigd Camiurial ofleuflEsad.
(a) Explain the Laws of Returns to scale with suitable examples.

OR

(b) Explain the Keynesian Theory of Interest.

46. (1) 216EEEHEBIGHT OHDID um&Sssamsaer eflef&sab.
CALLAET
(<) ApLiLn Quirerrgry wem@hseller CHIESRSDATLD, LT SmeTub
efleé &,
(a) Explain the internal and external economies of scale.

OR

(b) Explain the objectives and characteristics of SEZs.
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(<=4) Qumrapeflwen gleopuile gaeud Qgmflam L LbiseT ereueurm UweTuBSSL-

uHemen ?
LMV
(<) Qurss Qseay (TC) = 10 + Q3, Q = 5 erafléd AC, AVC, TFC, AFC g dlueunenns
SR 1g &HeLb.
(@) What are the ideas of information and communication technology used in Economics ?
OR

(b) If Total Cost (TC) = 10 + @3, find out AC, AVC, TFC, AFC when Q = 5.

-00o0-
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